<?xml version="1.0" encoding="utf-8"?>
<VYKAZ VERZE="44">

<VETA>
<RDAT>30.9.2016</RDAT>
<RED_I1Z0O>600039803</RED_IZO>
<KOD_NFN>030703A03</KOD_NFN>
<FN>0</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_I1Z0>600039803</RED_IZO>
<PSPO>4</PSPO>
<KOD_NFN>030701A03</KOD_NFN>
<FN>0</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_I1Z0>600039803</RED_I1ZO>
<KOD_NFN>050302A40</KOD_NFN>
<FN>1</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_I1Z0>600039803</RED_1ZO>
<KOD_NFN>030501A30</KOD_NFN>
<FN>1</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_1Z0>600039803</RED_I1ZO>
<KOD_NFN>04056BA20</KOD_NFN>
<FN>0</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_1Z0>600039803</RED_1ZO>
<KOD_NFN>A50101A01</KOD_NFN>
<FPP>b</FPP>
<FN>1</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_1Z0>600039803</RED_1ZO>



<KOD_NFN>E30101B01</KOD_NFN>
<FPP>b</FPP>
<FN>1</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_IZ0O>600039803</RED_IZO>
<KOD_NFN>A30201A01</KOD_NFN>
<FPP>a</FPP>
<FN>0</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_I1Z0>600039803</RED_IZO>
<120>102261300</1Z0>
<CAST>01</CAST>
<KOD_NFN>E30203A01</KOD_NFN>
<FPP>b</FPP>
<FN>1</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_IZ0>600039803</RED_IZO>
<KOD_NFN>B50401A01</KOD_NFN>
<FPP>b</FPP>
<FN>1</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

<VETA>
<RED_I1Z0O>600039803</RED_IZO>
<KOD_NFN>030301B10</KOD_NFN>
<FN>1</FN>
<DAT_ZAH>20.9.2016</DAT_ZAH>
<PRVNI_REDIAG>0</PRVNI_REDIAG>

</VETA>

</VYKAZ>



